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Definition we say that a row vector v=(v,v,,v,,..,v,) Isa distribution vector if vl,vz,vz,...,vtzo and v, +v,+V, +..+v, =1

Problem 1. Let G be a non-bipartite connected graph with n vertices and m edges, and x,.x,.x,...} be a

random walk on G. Show that the distribution of X, tends to a stationary distribution of the transition

matrix of the random walk.

Problem 2. Let P=[p;] be a transition matrix of a Markov chain which has state space S. Suppose that

p; >0 for each i, j in state space S. Show that, for any distribution vector V, P has a unique

stationary distribution V' which is independent of V, such that

lim vP'=vV
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